ANSWER. K EY

Function Notation

When a function can be written as an equation, the symbol f(x) replaces Yy and is read as “the value of
fat x" or simply “f of x.”

REMEMBER***

This does NOT mean f times x. f(-3) means -3 is your input and -

Replacing y with f(x) is called writing a function in function notation, | Plugitinforx

Examples: f(x) = -3 means that your whole
function is = to -3 and you plug into
If f(x) = 2x — 3, find the following: they.

a 12)2)(-2)-3 = -4-3 | ¢ *2(F)-3=14-3  © 4= 2 (-L,) -3 =

=3 = [ -8-3 =[£11]

Ifk(x) =-7x + 1, find the following:

+ KO -=F(o) + | =f e KFCH)COEL ter-7(8) 11 =
? D =%+l =8| BB +)|_E31”

Sometlmes there will be multiple x's in an equation. When this occurs, simply replace both vaiues of
X.

Ifh(x) = x* ~ 3x + 5, find the following:

2 htd) (-3)*-3(-3)+ K b. hs) (5 ) 3(5) + 5 =
oo f/} +9 + 5 25-15 +5
) [T_ZQ - — )o+ B
p(x) = x? +5x— find the following: 2 l—é:
e pt2y (- ?—) +5H(-2)-3 d. p(1) il .

= H-16-3 (1 %+ 5(1) - 3
- 9 = 23 l.
= 9] I Fl= B

If f(x) = 5x - 3, fill out the following table of values:

X -2 -1 0 _ 1 2 3
fx) sy B - B - 8 KA .
What type of function is this?
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The function h{a) represents the average height of boys that are @ years old.
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Boy's Age Average Height in Inches 1. Use the table to evaluate the function at each value, Explain whal sach
- ‘ : means in terms of the problem.
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10 years 55 2. Calculate the value of @ that makes each equation true.
Explain what each means in terms of the problem.
11 years 57
12 years 59 a. hla) = 61 "{’"‘ m}; b. h(a) = 36 -
13 years 61 A= \3 Yeurs € P o= Luears ol &
c. hlo) = 53 - d. hla) = 45
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gy The function d(t) represents Gulliver's
distance from home after ¢ hours.,
- 5 ' ki
L 3 2 1. Use the graph to evaluate the function at each
f & 4 3 value. Explain what each means in terms of the
i E problem.
s f = a.d2) = Hmiles b.d(5) = \| vw}ES
TN I L c.d2.9) = HmiicS d.d(10) = O muleS
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' i ‘ i equation true. Explain what each means in
i AT terms the problem.
i a.d(t)=2 b. d{t)= 5
t = : ! =4\
Ty c.dt)=4 d d(t) :0
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Algebra

Name:
Function Notation Worksheet Hour: - Date:
1. Evaluate the following expressions given the functions below:
g(x)=-3x +1 f(x)=x"+7 hix) == jx)=2x+9
X
a. gl0)= - 3(10) + | :EZQ?
&
e )74 = [E)
¢ h-2)= Ué,::Eb\
- A
d ih=_|4 +q = @
(B*19~
h(a)
£ Findxifgx)=16 ae |p =3 X + | — s BE~-3R E=Boy
e lb-| = -3xtI~l) de 1S _-3x XE E_)\
s - Pl % —
g Findxifh)=-2"c | _ 5 _ |2 L v—
e . Re=dumIlE edo-6
b. -26X: 122 (D .
h. Find x if f(x) = 23 _f SR 4. =5=12
a.z3= x2+4+ e B VR -z’
e 23 = X2y © le=xE dae o S
)( CHALLENGE! (in other words, optional) ~ g(b+c) N
o H = N
- X \
"HALLENGE! tional h e
)&3 ENGE! (also optional) f(h(x)) \7/________,

2. Translate the following statements into coordinate points:
a. fcnp=1 (- )
b. h(2)=7 (2,?)

¢ gl)=-1 (l)-—l)
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3. Given this graph of the function f(x):
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Find: i
a. f(-4)= L b. f(0)= ( c. f3) -l 4. f(-5)

e. x when f(x) =2 f. xwhenf(x)=0



